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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—eeeeeeeee- -- with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -----ceeeeeeem-
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —----ceeeee- --- that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer ------------ees an analogy between the human brain and the
computer,

1) drew 2) bore 3) took 4) put

The e of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ~—--—-----——--— at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely ------ -- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —---eeeeeeeee- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet --eceemmeaaees to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ===-smeemeeaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ---se-cemmeeeee- incidence of conditions that become
increasingly common in old age. (13) ==-=--eeeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-==-m==enun-
that the maximum life span (the oldest attainable age), (15) --=-=--=-=n---- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

PART C: Reading Comprehension

Directions: Read the following three passage and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE:

In the multiple load scenario. the column supports not one, but two loads. The first is
aligned with the column as in classical Euler buckling theory, while the second is
offset, producing an eccentric loading condition. It turns out that the solution to this
multiload problem has certain properties in common with the eccentrically loaded
column case. It has a critical load value, (P, ), like all classical buckling scenarios. but

will fail at lower loads due to yielding when the stresses exceed the material's yield
strength. On the other hand. the buckling load here is not constant as it is in classical
eccentric buckling theory.

This situation is unique as far as buckling problems go because the reaction forces play
an integral role in the analysis. Therefore, one must first determine their values before
proceeding to solve the governing differential equations. The first step is to sum forces
and moments to determine the reaction forces acting on the column. As appears to be
the case in all buckling problems, the starting point is the standard beam bending
differential equation. And like all other analyses, the process consists of first
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expressing the moment, M. as a function of external loads (and now reaction forces as
well), then inserting these expressions into the differential equation. solving it, and
finally applying boundary conditions.

16- From the first paragraph, which one may be inferred?
1) both eccentrically loaded and multiload columns exhibit a constant buckling.
2) eccentrically loaded columns share with multiload ones their failure modes.
3) material yield strength of a multiload column is far less than its critical load value.
4) multiload columns do in no way resemble eccentrically loaded ones.
17-  Which steps form the initial step in solving the beam bending differential equation?
1) applying the boundary conditions to the bending differential equation.
2) determining the external forces including the reaction forces.
3) writing a relation capuring the moment as a function of external loads.
4) summing the forces to determine the reaction forces.
18- One difference between the classical buckling problem and the multiload one lies in their

1) load transfer to supports.

2) overall constant buckling loads.

3) sizes of eccentric loads.

4) member failure in relation to their materials’ yield strengths.
19-  Solving the governing differential equations in multiload buckling problems -----eeeeeeev,

1) requires the initial determining of reaction forces.

2) is integral to the analysis of the member.

3) is in no way dependent on reaction forces.

4) must be accomplished before the beam bending differential equation is solved.
20-  Which description best captures the content in the second paragraph?

1) description of a situation.

2) explanation of a process.

3) comparison and contrast of different entities.

4) analogy between two otherwise identical things.

PART D: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The second approach is to prevent the non-structural elements from contributing thier

(21) —mmmmmmmmmmeee stiffness to the structures. This method is appropriate particularly
when a (22) ~==mmemmemmmena- structure is required for low seismic response. It can be
effected by making a gaps against the structure, up the sides and along the top of the
element. The non-structural element will need (23) -=--m-mmemmmmmmn at the top (with
dowels. say) against (24) ----ssemaneeee- by out-of-plane forces. If the gap has to be
filled, a really (25) -==--memeemeeaev material must be used, i.e. not "Flexcell".

21- 1) cladding 2) resistant 3) reasonable 4) shear

22- 1) desirable 2) flexible 3) precast 4) suff

23- 1) tenacious 2) restraint 3) blockage 4) constrict
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24- 1) overturning 2) sideslip 3) twitch 4) vibration
25- 1) rigid 2) strong 3) variable 4) flexible

| PART E:

Directions: In the following five questions, choose the best and correct answer.

26- In dynamic analysis of structures, what is called the first mode of the natural free

vibration?

1) Freedom term 2) Frequency mode 3) Principal mode  4) Particular term
27- What is the synonymous of “concentrated™ in analytical model of structures?

1) lumped 2) focused 3) centralized 4) centered
28-  What is the meaning of “prototype” in laboratory tests?

1) main rule 2) test rule 3) main sample 4) test sample

29-  What is the purport of “There is no concern about seismic instability™?
1) There is no worry about seismic instability.
2) There is no need to think about seismic instability.
3) We never concern about seismic instability.
4) Nobody has paid attention about seismic instability.
30- What is the meaning of the underlined word in the following sentence?
A small fillet or haunch can be placed between the deck slab and the top flange of the

stringer?
1) beam web 2) girder 3) slab corner 4) strange
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